E:\hadnout\Key Stata commands\final\key stata commands2.do
Printed at 15:49 on 03 Aug 2022 Page 1 of 5

log using "D:\Jason\workshop\Key Stata commands\key stata command2.log", replace

Kk hkhkhkhkhkhkhkhkhkhkhhhkhhhkhkhkhkhk kA kA A A A A A A A A A A A A A Ak khk ko hkhkhkhkhkhkhkhkhkhkhkhhhhhkhkhkhkkhkkkkkkxx*

* Example 1: Constructing variables using data in wide format

* Research question: how race and experience of violence predictd the number of depressive symptoms.
* Data: public data of Add Health at Wave III

* The number of respondents in the data: 6,504

* The numbers of respondents with valid values of racial backgrounds, experience of violence,

* or depressive symptoms change with the way these variables were constructed.

*

*

The numbers of respondents in the analytic sample symptom also vary, depending on how variables were constructed
Khkhkhkhkhkhkhkhkhkhkhkhhkhhkhkhkhkhk kA Ak A A A A A A A A A A A A A Ak Ak hkhkhkhkhkhkhkhkhkhkhkhkhkhhhhhkhkhkhkkkkkkkxx*x

dAhhkhkhkhkhkhkhkhkhkhkhkhhkhhkhkhk bk bk bk bk bk kA kA A A A A bbb bk ko ko ko ko ko ko hkhkhkhkhkhkhkhkhhhhkhkhkhkhkhkhkhkhkhkhkhkhk kA bk Ak Ak Ak drkhkhkhkhkhkhkhkhkhkhkhkhkhhhhkhkhkkk

* Read in the data and check the number of respondents in the data and the format of data
KA A A A Ak Ak Ak Ak Ak Ak Ak A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR AR AR AR AR A AR A AR A AR A Ak kk*

use "D:\Jason\workshop\Key Stata commands\Add Health\depression.dta", clear
count
duplicates report aid

Ahkhkhkhkhkhkhkhkhkhkhkhhhhhhhhkhkhkhkhk bk bk kA hkhA A A A rrrrrrk kb kb hkhkhhkkk

* Examine the variables of racial backgrounds
* Consider how the information of these variables should be aggregated

Ahhkhkhkhkhkhkhkhkhkhkhkhhhhhhhkhkhkhkhk bk bk kA hA A A A Ak rrrrrhk kb hkhkhkhkhkhkkhk

des h30d2 h3od4a h3od4b h3od4c h3od4d h3od6
sum h30d2 h3od4a h3od4b h3od4c h3od4d h3odé6
tabl h30d2 h3od4a h3od4b h3od4c h3od4d h3od6, mis
codebook h30d2 h3od4a h3od4b h3od4c h3od4d h3od6

R i I I I I S I R e R Rk kR e R kI I b I I I I S S S I S S S I S S

* generate new race variables and code the missing values of these variables
Khkhkhkhkhkhkhkhkhkhhhhkhkhkhk kA kA A A A A A A A A A A A A A A Ak k ko ko ko ko ko ko ko hkhkhkhkhkhhkhhhkhkhkhkhkhk kA Ak kA A A A Ak

clonevar hispanic = h3od2
clonevar white = h3od4a
clonevar black = h3od4b
clonevar native = h3od4c
clonevar asian = h3od4d
clonevar additional = h3o0d6

mvdecode hispanic white black native asian additional, mv (6=.\7=.\8=.\9=.)
tabl hispanic white black native asian additional, mis

R R i I I S I I I I R R R Rk kb kb b b e I I I I I I I I S R R Rk S kb ki

* count the number of respondents with valid information on their racial backgrounds
Kk hkhkhkhkhkhkhkhkhkhkhkhkhkhkhk kA kA A A A A A A A A A A A A A A Ak hhkhk ko ko ko ko ko ko hkhkhkhkhkhkhhhkhkhkhkhkhk kA kA A A A A A A A A A A A A A Ak ko ko kK

egen valid race = rownonmiss (hispanic white black native asian additional)
tabl valid race, mis

list aid hispanic white black native asian additional valid race in 1/20, nol

Khhkhkhkhkhkhkhkhkhkhkhkhhkhk kA kA A A A A A A A A A A A A A A A Ak hhkhkhk ko ko ko ko ko ko hkhkhkhkhkhkhhkhkhkhk kA kA kA A A A A A A A A A A Ak kkkkkhkkhkhkkkkk k%

* check the combination of four racial backgrouns, including being white, black, native, and asian
KAk hkhkhkhkkhkhhkhhkhhhhhhhhhhhhhk kb hhhhhkhhhhhh b hh bk bk bk hhhkhk bk h bk hkhhkhhkhk bk bk hk bk hhkhkh bk hkhkhkhkhkhhhkhkhhrhkhkhkhkhkkhkhkhhkhkhkhxk

egen race templ = concat( white black native asian ), punct(_)

label variable race_templ "the combination of racial backgrounds"
tabl race templ, mis

gen race temp2 =.

label variable race temp2 "the racial backgrounds, using four racial backgropund variables"
label define race temp2 1 "1 white" ///

2 "2 black or African American" ///

3 "3 American Indian or N ative American" ///

4 "4 Asian or Pacific Islander"™ ///

5 "5 hispanic" /17

6 "6 mixed racial backgounds"

label value race temp2 race temp2

replace race temp2 = 1 if race templ == "1 0 0 0"
replace race temp2 = 2 if race templ == "0 1 0 0"
replace race temp2 = 3 if race templ == "0 0 1 0"
replace race temp2 = 4 if race templ == "0 0 0 1"
replace race temp2 = 6 if inlist(race_ templ, "0 1 1 O", "1 0 O 1", 01 O",”™1 01 1" ,"1 0 1 O","™ 1 0 O","1 1 0 1","1
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tabl race temp2, mis

Ahkhkhkhkhkhkhkhkhkhkhkhhhhhhkhkhkhkhkhkhk bk bk kA kA kA A A A A A A A A Ak Ak hkkkk

* Incorporating the information of being hispanic
R R I i I S I S R R R h kR kR R R I b b b b b b b b b 3
tab2 race temp2 hispanic, mis

clonevar race temp3 = race_ temp2
replace race temp3 = 5 if hispanic ==

tab2 race temp2 race temp3 if hispanic ==1, mis
tab2 race temp2 race temp3 if hispanic ~=1, mis

R R I I S I I I S I S kR Rk kR R R I I b I I b b I I S S S S S S S S S S

* Incorporating the information of additional racial information
Khkhkhkhkhkhkhkhkhkhkhkhkhhhkhkhkhkhkhk bk bk kA Ak A A A A A A A A A A A Ak hkhkhkhkhkhkhkhkhkhkhkhkhkhhkhhhhkhkhkkkk*x%

tab2 race temp3 additional, mis

clonevar race_final = race_ temp3

replace race_final = 1 if race temp3 ==6 & additional ==
replace race_final = 2 if race_temp3 ==6 & additional ==
replace race final = 2 if race temp3 ==. & additional ==
replace race final = 3 if race temp3 ==6 & additional ==
replace race_final = 4 if race temp3 ==6 & additional ==

tabl race final, mis

R R R R I I S S S S S S S

* Violence variables
khkhkhkkhkhkkhkhkhkhkhkhkhhkhkxhkkkxkx

des h3dsl8b h3dsl8c h3dsl8d h3dsl8e h3dsl8f h3dsl8g
tabl h3ds18b h3dsl8c h3dsl8d h3dsl8e h3dsl8f h3dsl8g, mis

mvdecode h3dsl8b h3dsl8c h3dsl8d h3dsl8e h3dsl8f h3dsl8g, mv(6=.\8=.\9=.)

R R R I I S S I I I S A R Sk kb b i

* two ways of aggregating the items
KhkhkhkhkhkhkhkhkhkhkhhhkhkhkkhkhkhkhkhkhkhAkhArAdArA A A A A A A A Ak Kk kK

gen sum violence = h3dsl8b + h3dsl8c + h3dsl8d + h3dsl8e + h3dsl8f + h3dsl8g
egen rowtotal violence = rowtotal (h3dsl8b h3dsl8c h3dsl8d h3dsl8e h3ds18f h3dsl8gq)
egen miss_violence = rowmiss (h3dsl8b h3dsl8c h3ds18d h3dsl8e h3ds18f h3dsl8qg)

AhkhkhkhkhkhkhkhkhkhkhhkhkhhhhkhkhkhkhkhkhArArArArA A A A A Ak xx

* compare these two new variables
R R I I I S I I I I I R R Rk h h h kb

sum sum_ violence rowtotal violence
tab2 sum violence rowtotal violence, mis

Kk kkkkhkkhkhkhkhkk kK

* check the data
* ok k ok ok ok ok ok ok ok ok ok ok kK
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list aid h3dsl18b h3dsl8c h3dsl8d h3dsl8e h3dsl8f h3dsl8g sum violence rowtotal violence miss violence in 1/20, nol

sort miss_violence

list aid h3ds18b h3dsl8c h3dsl8d h3dsl8e h3dsl18f h3dsl8g sum violence rowtotal violence miss violence if inlist(miss vio

*Ahkhkhkhkhkhkhkkhkhkhkhkkhkkhkkhkkhkhkhkkkkkkk*kx

* Depression variables
Khkhkhkhkhkhkhkkhkhkhkhkkhkhkkhkkhkkhkhkhkhkkhkk k k k kx*x%

des h3sp5 h3sp6 h3sp7 h3sp8 h3sp9 h3spl0 h3spll h3spl2
tabl h3sp5 h3sp6 h3sp7 h3sp8 h3sp9 h3splO h3spll h3spl2, mis

mvdecode h3sp5 h3sp6 h3sp7 h3sp8 h3sp9 h3spl0 h3spll h3spl2, mv(6=.\8=.\9=.)

gen sum depression = h3sp5 + h3sp6 + h3sp7 + h3sp8 + h3sp9 + h3spl0 + h3spll + h3spl2
egen rowtotal depression = rowtotal (h3sp5 h3sp6 h3sp7 h3sp8 h3sp9 h3spl0 h3spll h3spl2)

egen miss depression = rowmiss (h3sp5 h3sp6 h3sp7 h3sp8 h3sp9 h3spl0 h3spll h3spl2)

*hkkkkkkkkkkkhkkhkkhkkhkkk*
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* check the data

hhkkkhkkkkkhkkkhkhkkkhxk

sum sum depression rowtotal depression

tab2 sum depression rowtotal depression, mis
sort miss depression

list aid h3sp5 h3sp6 h3sp7 h3sp8 h3sp9 h3splO0 h3spll h3spl2 sum depression rowtotal depression miss depression if inlist

Khkkkhkhkhkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhk k k k k*x%

* Analysis
hhkhkhkkhkhkkhkhhkhkrkhkhkhkhkrdrhhkhxkhkhkxkx*x

reg sum depression i.race final sum violence

sum sum depression race final sum violence

count

count if sum depression ~=.

count if sum depression ~ & race final ~=.

count if sum depression ~=. & race final ~=. & sum violence ~=.

reg rowtotal depression i.race final rowtotal violence

sum rowtotal depression race final rowtotal violence

count

count if rowtotal depression ~=.

count if rowtotal depression ~=. & race final ~=.

count if rowtotal depression ~=. & race final ~=. & rowtotal violence ~=.

Kk hkhkhkhkhkhkhkhkhkhkhkhk kA A A A A A A A A A A A A A A A A A A A Ak khhk ko hk ko ko ko ko ko hkhkhkhkhkhhhkhk kA A Ak A A A A A A A A A A Ak Ak kv khkk ko ko ko ko hkhkhkhkhkhkhkhkhhhhkhkhkhkhkhkhk kA kA kA Ak Akt K

Example 2: NSFG

Research question: how age and smoking is related to the probability of live birth.

Data: public data of NSFG 2017-2019

The number of respondents in the data: 3,709

The number of pregnancy records: 10, 215.

3,662 respondents reported a total of 10,007 pregnancy with iive births

3,709 respondents have valid information on age, which have impact on 20,215 pregnancy records.

The final analytic sample has 2,572 pregnancy records from 1,719 respondents.

*
*
*
*
*
*
*
*
*
R I i I I I R R Rk ki bk e R I I I I I I S I R I kR R R R R R I I b b b b i b I S e S S S I S I I S

use "D:\jason\workshop\Key Stata commands\nsfg\data\preg\example2.dta", clear

count

duplicates report caseid

duplicates report caseid pregordr

list caseid pregordr in 1/50, sepby(caseid)

R R R e I i S S S I S S R R b Rk kb bk b kb b b b b I I I I i i i i i

* Determine the number of respondents in the data
* This file has 3,709 female respondents and 10,215 pregnancy records

* respondents have an average of 2.75 pregnancies
R R I e i I S I I S I S I e R R R b b b b b b kb b b b I I I I I i i i i

sort caseid pregordr
by caseid: gen preg n n
by caseid: gen preg N = N

label variable preg n "indicator of pregnancy"
label variable preg N "total number of pregnancy of a respondent”

list caseid pregordr preg n preg N in 1/50, sepby(caseid) nol

tabl preg n, mis
sum preg N if preg n ==

R R kb b b b b b b b i

* The pregnancy outcomes
AhhkhkhkhkhkhkhkhhkhhhhhhhkhkhkhkhkhAhAhA A A A A A Ak r Ak kk kK

tabl pregendl pregend2, mis

gen livebirthl =

replace livebirthl = 1 if inlist (pregendl, 5, 6)
replace livebirthl = 0 if inlist (pregendl,l1,2,3,4)
replace livebirthl = . if inlist (pregendl,7,8,0)
label variable livebirthl "outcome of a pregnancy"

1,719 respondents have valid information on soming during pregnancy, which have impact on 2,293 pregnancy records
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label define livebirth 0 "not a livebirth" 1 "livebirth"
label value livebirthl livebirth

gen livebirth2 =

replace livebirth2
replace livebirth2
replace livebirth?2

I
-

if inlist (pregend2,5, 6)
if inlist(pregend2,1,2,3,4)
if inlist (pregend2,7,8,0)

Il
o

label variable livebirth2 "additional outcome of a pregnancy"
labe value livebirth2 livebirth

tab2 livebirthl livebirth2, mis

KAk Kk hkhkhkhkhhkhhhhh Ak k A A AAAAAAAAA A AR KA KK KK

* Code the end outcome of pregnancy
AhhkhkhkhkhkhkhkhkhhkhkhhkhkhkhkhkhkhkhkhkhkhAk kA A A rrrxx

R R R I I o S S S S

* Sum of the items
Ak hkhkhkhkkhkhkkhkhkhkkhkkkhkkhxkx

gen sum_livebirth = livebirthl + livebirth2
recode sum livebirth (2=1)

Khkkkkkhkhkkhkhkkhkkhkkhkkhkkhkkhkkhkkhk k k kkx*

* the rowtotal function
hhkhkhkkhhkkhkhkkhkhkhkkhhrkhkhhkkhhkhkkk*x*k

egen rowtotal livebirth = rowtotal (livebirthl livebirth2)
recode rowtotal livebirth (2=1)

Khkkhkhkhkhkhkhkhkkhhkkhkhkhkhkkhkkhk khk k k k k kk kk k%%

* Use the replace commands

khkhkhkkhhkkhkhkhkhkrkhhkhkhkrkhhhhhkhkkhkkhkkkx*k

gen code livebirth = livebirthl

replace code livebirth = 1 if livebirthl ==0 & livebirth2 =

1
[y

label value sum_livebirth livebirth
label value rowtotal livebirth livebirth
label value code livebirth livebirth

R R I i i S I I S I I I Rk ki ik Rk R R R R b b b b b b I I S I S S S S S

* Compare differnt ways of constructin the LIVEBIRTH variable
Khkhkhkhkhkhkhkhkhkhkhkhhhhhhkhkhkhkhkhk bk kA kA A Ak A A A A A Ak Ak hkhkhkhkhkhkhkhkhkhhkhkhkkkx*

count
sum sum livebirth rowtotal livebirth code livebirth

tab2 livebirthl livebirth2, mis

R R R S S S S S S S S S

* check the age variable
*khkkkkkkkkhkkhkhkkhkhkkhkkhkkhkkhkhkhkkkkk*x%

tabl ager, mis
tabl ager, mis nol

R I I S S S e S S S

* check the smoke variable
khkhkhkkhkhkkhkhkhkhkhkhkhhkhkhkkkkhkxkx

tabl postsmks, mis

tabl postsmks, mis nol

clonevar smoke = postsmks

recode smoke (5=0) (8=.)

label define smoke 1 "was smoking" 0 "was not smoking"
label value smoke smoke

tab2 postsmks smoke, mis

*hkkkkkkkkkkkkhkkhkkkkk*k
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* Regression analysis
R R R I I i I i S

logit code livebirth smoke ager

count

count if code livebirth ~=.

count if code livebirth ~=. & smoke ~=.

count if code livebirth ~=. & smoke ~=. & ager ~=.

KhkhkhkhkhkhkhkhkhkhhhhhhkhkkhkhkhkhkhkhAkhAdAdArArAr A A A A Ak kK

* The number of respondents with valid information on livebirth
* A total of 10,007 livebirths came from 3,662 female respondents

AhkhkhkhkhkhkhkhkhkhkhkhhhhkhkhhkhkhkhkhkhAhArArA A A A A Ak kk

tabl code livebirth

gen livebirth temp = 1 if code livebirth~=.

sort caseid livebirth temp
by caseid: gen valid livebirth = n

tabl valid livebirth
tabl valid livebirth if livebirth temp ==

list caseid pregordr code livebirth livebirth temp valid livebirth in 1/50, sepby(caseid) nol
list caseid pregordr code livebirth livebirth temp valid livebirth if inlist(caseid, 92033, 91773), sepby(caseid) nol

KAhhkhkhkhkhkhkhkhhkhkhhhhhkhkhkhkhkhkhAkhAhArArArArrrrr Ak xkx

* The number of respondents with valid information on smoking
* 2,293 pregnancy where mothers smoked during pregnancy.

* These pregnancies were from 1,719 female respondents.
AhhkhkhkhkhkhkhkhhkhkhhhhhkhkhkhkhkhkhkhAhA A A A A Ak kkk

tabl smoke

gen smoke temp = 1 if smoke ~=.
sort caseid smoke_ temp
by caseid: gen valid smoke = n

tabl valid smoke if smoke temp ==

LR EEE SR RS SRS S SRR R R R R R R R R R R R I i S S S S I S S S S S

* 3,709 female respondents reported age for 10,215 pregnancy records
hhkhkhkhkhkhkhhkhkhkhkhk kA kA hkhkhkhkhhhk kA hkhkhk kA hkhhkh kA hkhhkhkhhkhkhhkhkhkhkhkhkhkhkhkrhkhhkhkhkhkhkhkhkhkhkhkh*x*k

tabl ager, mis
sort caseid ager
by caseid: gen valid ager = n

tabl valid ager if ager ~=. , mis

Ahkhkhkhkhkhkhkhkhkhkhkhhkhhkhkhk kA kA kA A A A A A A A A A A A A A Ak ko ko ko ko ko ko ko ko hkhkhkhkhkhkhkhhhhkhkhkhkhkhkhkhkhk kA kA kA A Ak Ak Ak hkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhhhkhkkhkkkkkkxx%

* valid cases of the analytic sample

* 1,719 female respondents povide valid information on live births, smoking, and age for 2,572 pregnancies
Ak Ak hkhkhk ok hkkhkhhk Ak kA kA kA hkk ko hkhkhkkhk ko hkhkk hkhkh kA k ko hkh ko k ko hk ok hkkhhhkh kA khkhkhhhkhkhkhkhkhk ko h ok hkkhhhkhkhhkh ko hkhkhkhkhkhkhkhkhkhkhkhkhkrdhrhkhkhkhkhkkhkhhkhhkhx*k

gen valid temp = 1 if code livebirth ~=. & smoke ~=. & ager ~=.
tabl valid_temp, mis

sort caseid valid temp
by caseid: gen valid all = n
tabl valid all if valid temp ==1, mis

log close



